073593

/06/2022

73502_V1_16



OPARC SKATE

M8x16 (x16) @

=(

M8 (x16)




OPARC SKATE + TITAN 400

M5x12 (x3)

M5x12 (x3)




SKATE + WCU 1kW C + TITAN 400

OPARC

M5x12 (x3)



(0]:J:\:{e SKATE + WCU 1kW C + NEOPULSE/PULSEMIG 320 C

b
BN

M5x12 (x3)

M5x12 (x3)



SKATE + NEOCUT 105/125

OPARC

M5x12 (x3)

M5x12 (x3)



SKATE + TITANIUM 400

M5x12 (x3)




JBDC
1, rue de la Croix des Landes
CS 54159
53941 SAINT-BERTHEVIN Cedex
France



